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[#*3Fi]
chisq. test(x, y = NULL, correct = TRUE, ---)
[ %dcip ]
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3. correct : EF &L
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e Rt

cvd_all <~ read. csv(

file = "http://biostat. tmu. edu. tw/attachment/94_CVD_ALL. csv ’

)

fchi test

gpr =0 gt

cvd goal <~ cvd alllcvd all$s# & !1=0, ]

#41* table &z 7| 4

dt <~ table(cvd_goal$~ i ¢ 7 s, cvd_goal$# 7 € )

dt

#chisq test

chisq. test(dt, correct=FALSE)

e fics B

c.t <- chisqg. test(cvd_goal$s & ¢ %A T, cvd goal$44 7 &,
correct=FALSE)

#60* summary LR A TS % e A AL

summary(c. t)
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output:

> FEHHUERE

> cwvd_all <- read.csv(file = 'http://biostat.tmu.edu.tw/attachment/94 CVD ALL.csv '
> #chi test

> #HiERE E=0 FYA

> cvd goal <- cvd all[cvd all3ifiFi&E1=0,]

> $Ff[H table FEETIHIHIZE

> dt <- table (ocwvd | goals.[; ﬂ[ ?hﬁr,cvd goal+}¢f

> dt
1 2 3
0 13021 1420 144
1 1383 178 24

> #chisg test
» chisg.test (dt, correct=FALSE)

Pearson's Chi-sguared test

data: dt
¥-sgquared = 7.1%14, df = 2, p-valus = 0.,02744

> RNl %2
> c.t <- chisg.test(cvd goali/) EL fhﬁﬁ,cvd gDal+}$
> #{f|Hsummary EE TSR T SEEFE
> summary(c.t)

Length Class Mode

correct=FALSE)

=r

statistic 1 -none— numeric
paramster 1 —none— numeric
p.value 1 —-none— numeric
method 1 -none— character
data.name 1 -none— character
observed 6 table numeric
expected £ —-none— numeric
residuals € table numeric
stdres [ takle numeric

> #EREN

> c.tiobserved
cvd goalsflift &

cvd_goal$4}ﬁﬂf}fﬁﬂ§ 1 2 3
0 13021 1420 144
1 1383 176 24

> P THEAYHE S
= c.tiexpected
cvd_gaalsﬂﬁﬁgﬁi
cvd goald[INTTHHE 1 z 3
0 12983.712 1439.7365 151.55121
1 1410.288 156.2635 16.44879

cvd_gaal$ﬂﬁ§§ﬁi

cvd_goals [MTT A 1 2 3
0 ©0.2393871 -0.5201505 -0.8133904
1 -0.7266303 1.5788B532 1.8B618716
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> ¥ ¥k e (Fisher' s exact test)
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(A *3F2]
fisher. test(x, y = NULL, alternative = "two. sided", conf. level =
0.95,--)
[ $-#im ]
. x @ - Bkt EL
2.y ¢ - BREx S AELPLY
3. alternative : ¥ & » & FE & T
4. conf.level : RIF®EFHFF(FTF L 2X2 7447 )

7 fi# fisher. test 4ofm @& * {8 > AT LR e A AT 0 AR A AT
dt

fisher. test(dt)
fisher. test(cvd_goal$.< & ¥ 2 Js, cvd_goal$d # &)

output:
> dt
1 2 3
0 13021 1420 144
1 1383 176 24

> fisher.test (dt)
Fisher's Exact Test for Count Data

data: dt
p-value = (0.0282%
alternative hypothesis: two.sided
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> fishe:.test(cvd_gua;ﬂi}f[f¥ .L?,cvd_gua;ﬂkrfﬁiﬂ
Fisher's Exact Test for Count Data
data: cvd goald[L[MTTHH and cvd goalSilift &

p-value = 0.0282%
alternative hypothesis: two.sided
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EFIEPp Total
17 Ao g X NO YES
AEIEPp - NO 510 16 526
YES 5} 90 95
Total 51b 106 621

H AP * 2 menemar. test > B - T help #h

(A +:F2]
mcnemar. test(x, y = NULL, correct = TRUE)
[ %dcnp ]

. x @ - Bkt EL

2.y 1 - BREGX LAELEF L

3. correct : EF & Hir

7 f% fisher. test 4ofm i * {8 » 2 e 3e v B4 47 0 ARG 4T
dt <- matrix(c(510, 5,16, 90), 2, 2, byrow = F)

dt

mcnemar. test(dt)



output:

> dt <- matrix(c(510,5,16,920),2,2, byvrow = F)
> dt
[.1] [.2]
[1,] 510 16
2.1 5 =

> mcnemar.test (dt)
McHemar's Chi-sguared test with continuity correction

data: dt
McHemar's chi-sgquared = 4.761%, df = 1, p-value = 0.0291
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[&#%F]

Im(formula, data, ---)

[ %dcnm ]
1. formula : #3] ek ;¢
2. data : AR

TR INQ deie i *E s BERA PR ARG E e FadrE 2 - BRI
AU = R TR RNTHER o BRI A AT
rm(list=1s())
cvd_all <- read. csv(
file = "http://biostat. tmu. edu. tw/attachment/94_CVD_ALL. csv ’

)
fit.1 < ImCie4gR ~ ##, data=cvd_all)

fit.1

#41* summary()  {#Fwah 475 %
summary(fit.1)
output:




> rm{list=1=s())

> cvd all <- read.csv(
+ file = "http://biostat.tmu.edu.tw/attachment,/94 CVD ALL.csv '
+)
> fit.l <- Im{Uv¥EEE ~ iF#%, data=cvd all)
= fit.l
Call:
lm(formula = UiHEEE ~ fFH:, data = cvd_all)
Coefficients:
(Intercept) TR
83.7881 0.6298
> #FH summary() B TEEHAVHATSS R

summary (fit.1l)

Call:
im(formula = UIEEEE ~ fH%F, data = cvd_all)
Residunals:

Min 10 Median 30 Max

-67.916 -13.020 -1.689 10.947 144.421
Coefficients:
Esztimate S5td. Error t walue Pri>|t])
{Intercept) 93.788102 0.263950 355.3 <2e-1lg wE*
TS 0.629841  0.005407 116.5  <2e-16 **#
Signif. codes: 0 “**%f Q0,001 “**r Q.Q1 **f Q.05 *." 0.1 ' 1
FEesidual standard error: 12.89 on ©€3249 degrees of freedom
{1238 observations deleted duse to missingness)

Multiple R—=sguared: 0.17&7, Ldjusted R-sguared: 0.17&7
F-=ztatistic: 1.357e+04 on 1 and €324% DF, p-value: < 2.2e-16

[ 5452 %)

ek kg BB FRES 005/ ﬁ‘i‘»‘éi l—"ﬁ’fﬁﬁéii%{'ﬁ—
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Im_eqn <- function(x,y, df){

Im(get(y) ~ get(x), get(df))
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BIRB~$ FEIE

intercept <- round(m$coefficients[1], 2)

B x Tadic

beta <- round(m$coefficients[2], 2)

##82~ r. squared

r2 <- round(summary(m)$r. squared, 3)

FEHEFTME-F P

eq <- paste0("y=", intercept, "+", beta, "*x, r2=",r2)
return(eq)

#4401 * ggplot2 % @
library(ggplot2)
ggplot(cvd_all,aes(x=if#ﬁ,yzﬂiﬁﬁﬁt))+geom_point(color="#2196F3”)+
geom_smooth(method = "1Im", se=FALSE, color="black")+
geom_text(x = 35, y = 270, label = 1m_eqn(x="iﬁ$¢",y="1iﬁﬁE§
", df="cvd_all"), size=6)

output:



y=93.79+0.63"x, r2=0.177
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fit.1 <- Im(fcég/® ~ 4%, data=cvd_all)
summary(fit.1)
#4141 * ggplot2 % M
library(ggplot2)
ggplot(cvd all, aes(x=475% &, y=1{c i
& ))+geom_point(color="#2196F3" )+
geom_smooth(method = "1m", se=FALSE, color="black" )+
geom_text(x = 60, y = 270, label = Im_eqn(x="4F5 ", y="Jc ¥R
",df="cvd_all"), size=6)

output:
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> fit.l <- Im(UI4EEE ~ £FFREL, dava=cvd all)
> summary (fit.l)

Call:

Im(formula = QIQEEE - @?ﬂ%gﬁ, data = cvd_all)

Residuals:
Min 10 HMedian 30 Max
-95.,776 -9.408 -2.022 T.261 143,830

Coefficients:
Estimate S5td. Error t wvalue Pr(>|t])
{Intercept) 22.58188 0.36490 €1.88 <2e-16 *&®

HToERE 1.28916 0.00462 279.07 <2e-1§ #**%
Signif. codes: @ “#*%r 0 _QQ1l ‘**f Q.01 ‘*f Q.05 ‘.’ 0.1 * * 1

Residual standard error: 13.9 on 63203 degrees of freedom
(1284 cokservations deleted due to missingness)

Multiple R-sguared: 0.552, Adjusted R-sguared: 0.552

F-statistic: 7.788e+04 on 1 and 63203 DF, p-value: < 2.2e-1&

##F|fHogploc2 EE
librarvy (ggplot2)
goplot (cvd_all, aes (x=§#TiRHE, v=UT#EEE) ) +geom_point (color="#2196F3")+
geom smooth (method = "lm", se=FALSE, color="black")+
geom_text(x = €0, vy = 270, label = Im eqn(x="FTiRHEE", v="UT8EEE, df="cvd_all"™), size=§)
Warning messages:
1l: Removed 1284 rows containing non-finite wvalues (stat_smooth).
2:|Remﬂved 1284 rows containing missing values (geom point).
>
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y=22.58+1.29%x, r2=0.552
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